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3 (1) <lRel HIlédl uzell Aeicidis =M.
X

y 18 19 20 21 22

20-25 6 6 4 2 -

25-30 - 4 8 4 4

30-35 6 10 10 4 -

35-40 - 2 4 6 6

40-45 - - )

B2l

(1) clRel HIf&dl uzell sHis eivitis M. 2ieildd €y

yer 2.

x |80 (47 75182 |80 (521477580 |82 8215052 (47 (75]80
y |72 150 (76 [78 |72 (54 |60 |62 |50 |72 76 54 |60 (60 |78 |78
(o) %€l €l 10 gslololl AuRIeli AisSI <R Yo 8,
d2defl 2RIz wena 8 ? 5% Arkisdiel sa d.

Qe (28uausdal) [14 |9 | 8 |10 |12 |14 [11]14 |13 |15
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Zap, = 1.96, 5% 2A12isdiell sa11RA)
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ENGLISH VERSION

1 (@) What is Research ? Explain its differnt types 7
in detail.
OR
(a) Explain Research Process in detail. 7
(b) Answer any two questions : 4

(1) What is importance of research in business
activities ?

(2) Explain about Research Report writing.

(3) Give criteria of good research.

(¢©) Give criteria of good research design. 3
OR
(© Explain completely randomized design in short. 3
2 (@) What 1s questionnaire ? Explain its types with 7

merits and demerits.
OR
(a) State the probability sampling methods and discuss 7
any two such methods with their merits and demerits.
(b) State the objective of classification of data and 7
discuss the types of classification.
OR
(b) What is secondary data ? Explain methods to obtain 7
its origin.
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7

3 (@) Find correlation coefficient from the following data.
x

y 18 19 20 21 22
20-25 6 6 4 2 -
25-30 - 4 8 4 4
30-35 6 10 10 4 -
35—-40 - 2 4 6 6
40-45 - - 4 8 2
OR

(@) Find rank correlation of coefficient from the

following data. Also calculate probable error.

x |80 |47 75|82 180524775180 |82 (82 (5052147 |75]|80
y |72 150 (76 [78 |72 (54 |60 |62 |50 |72 76 54 |60 (60 |78 |78
(b) The sales digits of 10 different shops are as under.

Is there any impact of advertisement ? Take 5% level

of significance.

Sales (before advertise) (14 | 9 [ 8 [10 |12 |14 (1114 |13 |15

Sales (after advertise) [13 |11 (13 [ 9 |15 |11 (11|16 |12 |16

(tiap = 2.26, 9 d.D)

OR
b) (1) A sample of 100 units having a mean 118 and
s.d. 15. Then we can say that census mean 1is
greater than 120 ? (Z,,, = 1.96, 5% level of
significance).
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(2) From the following information for the two 4
groups there is no significance differnce

between two means.

Sample
Group | . S.d. | Average
Size
P 80 12 750
Q 120 14 755

(Ziy, = 1.96, 5% level of significance).

4 (a) Obtain regression line of y on x; and x, from the 7

following information.

y (3017080 | 60 |40
X 160 {90190 100 | 30
Xy |12 (18 |15 | 16 | 13

OR
Explain importance of business forecasting.
() Using method of exponential smoothing by taking 7

initial estimate = 100 and o = 0.4 prepare forecasts.

Time period t | 1985 [ 1986 | 1987 | 1988 | 1989 | 1990

Value x, 120 | 130 | 131 | 135 | 134 | 132

OR
(b) Fit a second degree parabola to the following data 7

and find production for the year 2000.

Year 1990 | 1992 | 1994 | 1996 | 1998
Production | 14 6 8 13 10
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5  Give answers of following questions in short : 14
(1) Give defiitions of type one and type two errors.
(2) Give definitions of null hypotheses and Alter hypothesis.
3) Givce steps of research process.

4) Give two advantages of latin square design.
() If (4B):(4B)=3.1 and (aB)=(cop) then find @.

(6) Write difference between information and observation.

(7) State two characteristics of good sampling.
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ENGLISH VERSION

1 Mira Company is manufacturing a single product. It is 20
presenting the yearly sales turnover quarterly of its estimated
years.

Quarterly Estimated sales
Period Units
1 30,000
2 37,500
3 41,250
4 45,000

The opening stock of finished goods is 10,000 units and the
company expects to maintain the closing stock of finished
goods of 16,250 units at the end of the year. The production
pattern in each quarter is based on 80% of sales of the
current quarter and 20% of the sales of the next quarter.
The opening stock of raw materials in the beginning of the
year is 10,000 kg and the closing stock at the end of the
year is required to be maintained at 5,000 kg. Each unit
of finished output requires 2 kg. of raw materials.

The company proposes to purchase the entire annual
requirement of raw materials in the first three quarter. So
the proportion and the prices are given below :

Quarterly | Purchase of Raw materrials | Price for
period % to total annual requirement | kg. Rs.
in quantity

1 30% 2
50% 3
3 20% 4

The value of the opening stock of raw materials in the
beginning of the year is Rs. 20,000.

You are required to present the following for the next year.
Quarterwise :

(1) Production budget

(2) Raw material consumption and quantity budget

(3) Raw material purchase budget
OR
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Shankar Ltd. comes into existence for buying a current 20

business. It issued equity share capital of Rs. 66,50,000 and
10% debentures of Rs. 5,50,000 and created Fund; Interest

on debentures will be paid annually.
Starting output cash flow :

Building ..........cccvveee Rs. 27,50,000
StOCK .o Rs. 6,60,000
Plant....ccooovoeeiiiieiiaeeiennn. Rs. 11,00,000
MotOr oo Rs. 5,50,000

The above payment is to be done in a month of company’s

registration — at the end of 30th September 6 months

expected sales is as follows :

Month Rs.

April 15,40,000
May 16,50,000
June 20,35,000
July 27,50,000
August 29,15,000
September 30,80,000

Other details :

(1) The level of stock will be maintained monthly uniformly.

(2) The administrative expense will be paid end of every
month of Rs. 55,000

(3) Equity shares and debentures will be issued on 1St
April.

(4) The credit period for the debtors will be of 2 months.

(5) The credit period for the creditors will be of 1 month.

(6) The gross profit on sales is 20%.

(7) Primary exp. of Rs. 55,000 will be paid in the month
of May.

(8) Wages and Salary
First three months Rs. 88,000 monthly, for the later
period Rs. 1,04,500 monthly.

(9) The time lag in payment of wages and salary is one

month.

Prepare on the books of Shankar Ltd.

(1) Cash Budget (for first 6 months)

(2) Estimated annual accounts upto 30 September,
2019.
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2 D.K. Ltd. manufactures products P, Q and R and seeks 20
your advice regarding production mix. You have to prepare
statement relating to maximum profitable sale mix which
shows :

(a) Expected profit from current budgeted production mix.
(b) Profit expected from maximum profitable production

mix.
Particulars P (Rs.) [Q (Rs)|R (Rs.)
- Direct Material per unit 40 30 20
- Direct labour per unit
- Dept-1 (Rate per unit Rs.1) 6 10 5
- Dept-2 (Rate per unit 2) 12 30 22
- Variable overhead per unit 2 5 3
- Budgeted production during

current year (in units) 5000 6000 10000
- Maximum sale estimate

during 2019 (in units) 6000 8000 12000
- Selling price per unit (Rs.) 78 100 60

Fixed overhead during the year is Rs. 2,00,000. Labour
supply of Dept-1 is limiting factor and no addition or
increase 1is possible in present supply.

OR
2  The management of Vijay Company is producing two 20
products A and B. The following are the three options

mentioned.

(1) Reduced the production units by 40,000 of A product
and increases the production and sale by 32000 unit
of B product.

(2) Reduced the per unit cost of A by 20 paisa, so that
25% increase in the sales of A product can be made
and no change is to be done for B product.

(3) The production and sales of A product should be
1,10,000 units and B product 2,10,000 units.
Additional Information given below :

Particulars Product-A | Product-B
Sales in units 1,00,000 2,00,000
Sales Value Rs. 5,00,000 17,00,000
Cost of Sales Rs. 3,00,000 12,00,000
General
Contribution Rs. 2,00,000 5,00,000
Selling and distribution

expenses Rs. 1,20,000 3,00,000
Net profit Rs. 80,000 2,00,000
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In the total cost of production of A product Rs. 2,40,000 is
variable expenses and in the total cost of production of B
product Rs. 6,80,000 is variable expenses.
Suggest some measures to the management as to which
option would be profitable to be selected.

3 (a) If fixed expenses is Rs. 6,000, variable expenses 7
Rs. 48,000 and Break even point is Rs. 30,000
Find out :

(1) Profit Volume ratio
(2) Total Sales
(3) Profit

(b) Vivek company sells products “P” and “Q”, the details 8
of which are as under :

Particulars Product P| Product Q
Sales Units 72,000 24,000
Sales Price Rs. 5 10
Variable Expenses 4 3
Fixed Expenses Rs. 60,000

With the purpose of improving profitability, the company
stops selling product “P” and starts selling product “R”.
Sales of 12000 units of products “R’ is possible, its
selling price and variable expenses is Rs. 12 and Rs. 6
respectively. In both the situations, find out the profit
and decide which combination should be adopted ?
OR
3 Write short notes : (any three) 15

(1) Break-even point analysis model

(2) Cost volume profit analysis model

(3) Budgetary model

(4) Cost of capital model

4  Write short notes : (any three) 15
(1) Importance of value analysis.
(2) Impact of value engineering on profit.
(3) Characteristics of introductory and growth stages of
product life cycle.
(4) Classification of quality costing.
(5) Quality costing report.
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ENGLISH VERSION

Instruction : Right side figures indicates marks.

Describe five pillars of your personality development and

career advancement. Explain any three out of them.
OR
(a) Explain meaning of personality. Describe various
traits of personality.

(b) Discuss the influencing factors of self development.

Explain the following self qualifying factors :
(a) Self image factor
(b) Self confidence factor.
(¢) Self intelligence quotient factor.
(d) Self performance factor.
OR
(a) Write a note on self tolerance and self
communicative factors.
(b) Explain about self belief and self concept system.

Discuss the combination of brain, mind and body for
the development of personal attributes.

OR
Describe a process for preparing a personal mission
statement.

Discuss different techniques to get success in career in
218t Century.
OR
Write a short note on :
(a) Advising and counselling
(b) Aspect for managing career.

10

10

20

10

10

15

15

15

15
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ENGLISH VERSION

1. Describe the Process of Business Research.
OR
(a) Explain various types of Research Design.
(b) Discuss the Important of Research in Business.

s

2. Evaluate the types of Hypothesis. How this Hypothesis can be tested? Give the Example.

OR

N

What is Research Problem? Explain Research Problem in detail.

3. What is the Primary data and Secondary data? Explain their advantages and disadvantages.

OR

3.  How to design Questionnaire? Explain the points of Construction of the Questionnaire.

4. (a) Explain : RunTest
(b) Give the Difference between Parametric and Non parametric Test.
OR
4. Calculate the Example Use Mann Whitney U Test.

Group-l [70 |68 [73 |81 |66 |56 |62 |75|83 |48 |-
Group-Il [ 72 |67 (74165163 |77 |71 |60 |76 |61 |64
Test the Null Hypothesis that there is no Significance difference in the
performance of the students of two groups.
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ENGLISH VERSION

Instruction: (1) All questions are compulsory.
(2) State marks of the cach question on the right side.

Explain in details the definition, nature and scope of the managerial 20
economics.

OR
Explain the fundamental concepts of managerial economics with
illustration and its uses.
(a) Incremental Principle (b) Equi-marginal Principle

State the meaning of Demand Forecasting. Explain any three methods of 20
Demand forecasting of current goods.
OR
(a) Explain the determinants factors of demand in Managerial
economics.
(b) What is cross elasticity of demand? Explain the Cross elasticity of
demand with illustration and its uses in the managerial decisions.

(a) State the meaning of Production function, its types and natures. 15
(b) State the advantages and disadvantages of firm’s economies of Secale.
OR
(a) Explain the optimum factor combination with the help of Iso-quant
and Iso-cost curves through diagram.
(b) Explain the relationship between Long run cost and production
through diagram.

Explain the short run and long run price determination of a firm and its 15
cquilibrium under the perfect competition.
OR
Write a short note: (a) Cost-Plus Pricing Mecthod
(b) International price discrimination and dumping.
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ENGLISH VERSION

1 (a) Evaluate wealth maximization objective of 10
financial management.
OR
(a) Explain the role of Financial Manager. 10
(b) Explain the Managerial Finance Functions. 10
OR
(b) Discuss traditional and modern view of Financial 10
Management.
2 (a) Discuss different techniques of capital budgeting. 10
OR
(a) Shri Chintan Ltd. is considering the purchase of 10
either of the following machines.
Machine ‘A’ Machine ‘B’
Life 5 years 5 years
Cost (Rs.) 2,00,000 2,00,000
Cash Flow Rs. Rs.
Year 1 60,000 20,000
2 80,000 60,000
3 1,00,000 80,000
4 60,000 1,20,000
5 40,000 80,000
Compute the profitability as under :
(1) Return on Average Investment method.
(2) Pay-back period method
(3) Net present value method
Discount rate is 10%. Present value factor @ 10%
1s as under :
Year 1 2 3 4 5
P.V. Factor | 0.9091 | 0.8265 | 0.7513 | 0.6830 | 0.6209
(b) Explain Decision Tree analysis. 10
OR
(b) Explain capital rationing with illustration. 10
3 (a) Following information is obtained from the 7
Atul Co. Ltd.
Equity share capital (each of Rs. 10).....Rs. 5,00,000
11% Preference share capital
(each of Rs. 100) .ccooiviveiiiiiieeeieeeeeee, Rs.1,00,000
Reserve and Surplus .......ccoooeeivviiieeinnnnnnn... Rs. 9,00,000
15% Debentures (each of Rs. 100).......... Rs. 10,00,000
H-251004] 3 [ Contd...
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(b)

(b)

H-251004]

Expected rate of dividend on equity share for the
next year is 20%. Growth rate of company’s earning is
10%. Current market rate of equity share is Rs. 25. Cost
of retained of earning is 3% low in the comparison of
equity share capital. Suppose the current market price
of preference share is Rs. 60 and current market price
of debenture 1s Rs. 69 and rate of corporate taxes is 60%.

Find out the average weighted cost of capital on
the base of following :

(1) Weight of Book Value
(2) Weight of Market value.
OR
To incorporate new plant A Co. Ltd. requires
Rs. 5,00,000. The estimated annual income of new plant
1s Rs. 80,000 (EBIT). Company has following different
alternatives to obtain the finance :
(1) Equity shares Rs. 4,50,000 and debt Rs. 50,000

(2) Equity shares Rs. 3,00,000 and Debt Rs. 2,00,000
(3) Equity shares Rs. 2,00,000 and debt Rs. 3,00,000

The face value of the share is Rs. 10 and its
present market value is Rs. 25, but if company obtains
more than Rs. 2,50,000 by raising the debts, the market
price of the shares, after reducing will remain Rs. 20.
Debts can be obtained by following rate :

(1 8% upto Rs. 50,000
(1) 12% upto Rs. 50,000 to Rs. 2,50,000 and
() 18% for more than Rs. 2,50,000.

Estimated rate is 50%. Find out earning per share

for each alternative.

Explain ‘Net Income’ and ‘Net Operating Income’
approach in the context of capital structure.

OR

What is Cost of Capital ? Explain its importance
in financial decisions.

Explain the various factors affecting the dividend
policy.
OR

What is a stable dividend policy ? Explain the
advantages and disadvantages of stable dividend rate
policy.

Write note on Gorden’s model of dividend.
OR

Discuss the constraints on the dividend decision.

8

1 [ 770 / 22-11 ]



* H - 0 8 1 0 0 ] *

Time :

3

MCOMC - 106 : Accounting for Managers

H-081006 Seat No.

M. Com. (Sem. I) Examination
November - 2019

(Old Course)

3 Hours] [Total Marks : 70
(1) Aeugld uAfAL 22l A il weudl. 9
Al
(20) wsusly WSl auasidl @9 2wl 3. 9
(o) “DAuniell QS & usdietl et vl o
(1) wsusly usASiL 8251 oseudl.
(2) ~wsudla uaAsidl wafei asudl.
(3) [Rauoll el Here Al
(¥) IFRS+ Hexet uveqdl.
(1) A3 suRdln ez wsiw @ 4 wg 23y Quiz . 9
3.
Ay Masdl 1,00,000 | Hdl€l dslidr 1.y
A1y, gal ¥0,000 | HU&sl-l 2Lia 0.9Y
o5 RIS 10,000 | (R Masdl A
eAHA A AHIR ¥0,000 | AL cidoi)
Al
(1) Ass Ul usAs 212d g 7 sleus Hisszll gl Rl 9
fR0-3 (AS-3) €69 AUsE UAlS Uals AR S3U.
(o) “DAuniell QS & usdietl et vl o
(1) oldlon UcusuAs A A Udle Usls A2 dsldd
(2) oelnz [Rsduad dew yuAdl.
(3) Ass @A A WS wHAL.
(¥)  ASLSIR5dlAL dMIH RNl M 2L
() yer qlatt [RaolAl sel/Guailbial sudl. o

Yl

H-081006 ] 1 [ Contd....



(24) ofoget .+l Al ulRdl urell adwu
Bradlor genandl 2w@idl s,

widz ugld (CAA) ssn @

[Ao1q 1-¥-209¢ | 31-3-2049
ECK] 1300,000 | 1300,000
AL 00,000 | 300,000
5L s g (L) 100,000 | 100,000
QoL [3oiud 340,000 | 40,000
65 dlrt 140,000 | 00,000
s3I orad ¢0,000 ©0,000
S A 6ls 14,000 4,000
AdHI Y3dR-L SUdL :
A8l Uidz-l ealdl ¢0,000
BRARUAL salel 90,000
Aeusly sidella il el 40,000
200,000
(6) AAeuntiel AS 6 maedletl geuor @vil. 9

(1) vaulazoasl Raoll ugle Hew avdl.

() g AuF- [Raeldl GuaBidl Axedl.
(3) 4 avil. aulrs RBaell ugl
(¢) s su-dlad wensla addl uziidHl 1R elladdl YAsHs

R00 &dl AR 3.¢00,000 L sl wilel 530, anq
pid FUR HldAl YAsAS adld 100 qdlL AR AsLEH
oo [3ud 3.¢00,000 edl. av- vid vile wlsal 2083

5L 5 5 k.

¥ Bowa [@. - Auasiel ARl suledl w.

el (BHd 2184 els 3. ¥
lad vl asv €ls 3. ¢
R vl 3. 30,000

AR 5 :
1) sl gL 9elR
) udde Blgal el 3R

k1

Y) 3.%¥0,000 sl dld U dAeHl sy
H-081006 ] 2

ol dABL 3.930,000 1A dl Asil U

(

(

(3) 3.3,00,000 4R A dl ARl Ui
(%)

(

1

1Y

[ Contd....



(2) o daumt (Buasi uz amidd i dl AAdl <4t ozeHdl el
(9) @ R vifui 207 awdl i dl wige Bt daadl sy
2l
¥ () g R susidl e, el 2 qaleeid woudl. 9
(o) 2z (@, 034 wuRd yd ud . o
ENN Gewg-t ¥l
¥0Y% 0¥
10,000 54l | 22,400 isHl
3. 3.
el QUM 100,000 234,000
Neual Hoel 30,000 £9,400
SIRVUAL Y& v 40,000 94,000
dielL uiE Wy ¢0,000 130,000
adladl uRigr wf 40,000 40,000
Gul [@ordl uRdl Yoz 2 90% Gawled addl WRdd-ella
ALY AU 53
uo o [Aseudl wriedll s 1Y

(1) ASBd y3 -un
(21) Accounting Standard Board
(61) Accounting Security Board
(5) Accounting Service Board
(5)  Guilsd U4 Sdusl AR
(2) 25l GuUAl Y quid, $6 AAIQL 3.200,000 AAIGL U SI241 5L
UYL . MR RS A5l S3U.

(1) 3.2¢,000 (1) 3.32,000

(5) 3.30,000 (3)  3.3%,000
(3) vt Glall g ez

() ASIsRSAL qHRA (61) “s151R5cL 821

(5) 51515l GUR AR A AR (3)  Gulsd U4l Siual R
(%) 5Ad 2ua53A

(@) 520 ugk (0) Ase ugk S

() ~ueudls ual & (8)  Gudsd U4l SiSua -l
(W) 5§ (Aol weudla Basdaii e ad el ?

(1) Beueldl (o) Aglledl

(5) =2ls ()  Gurnigl susl AR

H-081006 ] 3 [ Contd....



(2) DA-usiell sy Hiza Hirta AUl [Raol ugla 22 Guadii ddlg
ol ?
(1) Aq 2 ey Uika (
(5) o0ll > il iz (
(9) a-uniel i aiow ououd w%e &
(1) 2R o2 () uRad-lle a%e
(5) Ass aFe (3) »d axe
(¢) DA el wll BisHEls 3. ¢l 8L saL =2 33 el
L5HL WL
Msels quel BHd 3. wo
asuels uled v 3. 2y
RaR wal 3. 120,000
(21) 5000 (&) 15,000
(5) 7500 (5)  Gunisdl isusl R
(¢) IFRSd u3 - g & 7
() Indian Financial Record Standard

(6t) International Financial Reporting Standard

o) AGE A AHAA HkdA
3 Gumidl ssus <R
?

() Indian Financial Reporting Standard
(3)  Guaniedl 2sugt -l

(10) [Baell 9R8-10 (AS-10) £ cueld »i3L 8 ?
(1) [Rapoll il uodlszal (o) Guad Auen

(5) RER Masddl sl (5)  Gunisdl isusl R
(1) Auge Bl vad swil =

(21) 81 (61) osn

(5) s RaR wf (3)  sa ald v
(22) [Bauell Qiel 518l oler Ul & ?

(1) ICAI (1) ICWAI

(s) ICSI (3 CLB
(13) Sraredll Hetis 10 [Raoll Qe

(1) AS-3 (1) AS-2

(5) AS-14 (5) AS-6
(2%) dlal s i3 idAIA ARusld »dalar Hia

(1) IFRS-3 () IFRS-4

(s) IFRS-6 (3) IFRS-5

H-081006 ] 4 [ Contd....



1 @A

A

2 A

A)

®)

3 A

A)

ENGLISH VERSION

State the meaning and objectives of Financial

Statements.

OR

Discuss the users of Financial Statements.
Answer any two of the following questions.
(1) State the components of financial statements.
(2) State the limitations of financial statements.
(3) Explain the importance of Accounting Standards.
(4) Explain the importance of IFRS.

-3

From the following information prepare Balance 7

Sheet of Prakash Ltd.

Rs.

Current assets
Current Liabilities
Bank Overdraft
Reserve & Surplus

100,000
40,000
10,000
40,000

Liquidity Ratio

1.5

Proprietary Ratio 0.75

(Fixed Assets

Proprietary funds)

OR

What is Cash-Flow Statement ? Prepare Cash Flow 7
Statement under AS-3 with imaginary figures.

Answer any two of the following questions : 7
(1) Difference between Fund Flow Statement and
Cash Flow Statement.
(2) Explain the importance of Ratio Analysis.
(3) Explain cash and cash equivalent.
(4) Give name of all profitability ratios.
State the advantages or utility of Value Added 7
Accounting.
OR
From the following information of Gunjan Ltd. 7
calculate Gearing Adjustment under Current Cost
Accounting (CCA) method.
Particulars 1-4-18 31-3-19
(Rs.) (Rs.)
Share Capital 13,00,000 13,00,000
Reserves 2,00,000 3,00,000
Profit and Loss Alc.

(Credit) Balance 1,00,00 1,00,000
10% Debentures 3,50,000 2,50,000
Bank Loan 1,50,000 2,00,000
Provision for taxes 80,000 90,000
Cash and Bank 15,000 5,000

H-081006 ]
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Current Cost Adjustments :

Cost of Sales Adjustment Rs. 80,000
Depreciation Adjustment Rs. 70,000
Monetary working capital Adjustment Rs. 50,000
2,00,000
(B) Answer any two of the following questions : 7
(1) Explain the importance of Environmental
Accounting.
(2) Explain the utility of Human Resource Accounting.
(3) Write a note on Social Accounting.
(4) A company purchased investments of Rs. 8,00,000
in the beginning of the year when price index was
200. At the end of the year, the index rose to 240
and the market value of investment was
Rs. 900,000.
Find out the profit or loss at the end of the year on
the basis of purchasing power.
4  Following information is received from the books of 14
Kinjal Ltd.
Selling price per unit Rs. 24
Variable cost per unit Rs. 18
Fixed cost/expenses Rs. 30,000
Calculate :
(1) Profit volume ratio
(2) Break-even sales in rupees.
(3) Margin of safety at sales of Rs. 3,00,000.
(4) Amount of profit if sales are Rs. 1,20,000.
(5) Amount of sales if profit is Rs. 40,000.
(6) If selling price is increased by 25% then new profit
volume ratio.
(7) Break even sales if fixed expenses are increased by
20%.
OR
4 (A) State the meaning, advantages and limitations of 7

Zero Based Budget.
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(B) AX Ltd. provides the following information. 7

Particulars Production| Capacity

40% 90%

10,000 units [22500 units

(Rs.) (Rs.)

Direct Materials 100,000 225,000

Direct Wages 30,000 67,500

Factory Overheads 50,000 75,000

Selling Overheads 80,000 130,000

Administrative Overheads 50,000 50,000
Prepare Flexible Budget at 50% and 70% production

capacity.
5 Select the correct option : 14

(1) Full form of ASB is
(A) Accounting Standard Board
(B) Accounting Security Board
(C) Accounting Service Board
(D) None of the above

(2) Stock turn over 5 times, total sales Rs. 200,000; Gross
profit percentage on sale is 25%. Determine closing

stock.
(A) Rs. 28,000 (B) Rs. 32,000
(C) Rs. 30,000 (D) Rs. 34,000

(3) A very high current ratio will
(A) Increase profitability
(B) Decrease profitability
(C) Not affect on profitability
(D) None of the above

(4) Income Tax paid 1is

(A) Operating Activity (B) Investing Activity
(C) Financing Activity (D) None of the above
(5) Which item is not included in monetary assets ?
(A) Debtors (B) Bills receivables
(C) Stock (D) None of the above
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(6) Which one of the following models does not deal with
Human Resource Accounting ?
(A) Lev and Schwartz model
(B) Robert and Thomson Model
(C) Jaggi-Lau’ Model
(D) None of the above
(7) Which of the following is a long-term budget ?
(A) Master budget (B) Flexible Budget
(C) Cash Budget (D) Capital Budget
(8) Find out the required sales in units to earn profit of
Rs. 8 per unit, from the details given below :
Sales price per unit Rs. 40
Variable cost per unit Rs. 24
Fixed expenses Rs. 120,000
A) 5000 B) 15,000
(©) 7500 (D) None of the above
(9) The full form of IFRS is
(A) Indian Financial Record Standard
(B) International Financial Reporting Standard
(C) Indian Financial Reporting Standard
(D) None of the above
(10) The scope of AS-10 is :
(A) Disclosure of Accounting Policies
(B) Revenue Recognition
(C) Fixed Assets depreciation
(D) None of the above
(11) Contribution of break-even point =
(A) Profit (B) Loss
(C) Total fixed expenses(D) Total variable Expenses
(12) Accounting Standards are issued by

A) ICAI B) ICWAI
(©) ICSI (D) CLB
(13) Accounting standard for inventory valuation is dealt
with by
(A) AS-3 B) AS-2
(C) AS-14 D) AS-6
(14) Insurance contracts are dealt with by
(A) IFRS-3 (B) IFRS-4
(C) IFRS-6 (D) IFRS-5
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ENGLISH VERSION

Instructions:- (1) All questions are compulsory.

(2) Figures to the right indicate marks of the questions.

1.(A) Explain the various concepts associated with Financial Economics.
OR
(A) Outline the characteristics of the Money Market.
(B) Answer any two in brief.
(1) What is meant by risk and uncertainty?
(2) Explain the functions of the Capital Market.
(3) What is the difference between present value and future value?
(€} Answer the following in one or two sentences.
(1) What is Debenture?
(2) Give a meaning of Capital Market.
(3) What is Yield Rate?
2.(A)
OR
(A) Explain the principle of liquidity in cash.
{B) Answer any two in brief,
{1) Explain” interest rates factors in time”.
(2) Give the types of interest rate.
(3) Differentiate between fixed interest rates and flexible interest rates.
(C) Answer the following in one or two sentences.
(1) What is the Repo Rate?
{2) What does Call Money mean?
(3) What is the Real rate of the interest?
3.(A) Give the meaning of Arbitrage. Check the possibilities of Arbitrage.
OR
{A)Explain the principle of efficient market.
(B) Answer any two in brief.
(1) Explain the market line of capital asset pricing model.
{2) What is financial arbitrage?
{3) Explain the classification of type of risk.
{C) Answer the following in one or two sentences.
(1) What is Depreciation value?
(2) What is a market value?
(3) Give the meaning of efficient market.
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What is rate of the interest? Discuss the effectiveness factors for interest rates. 07
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4.(A) Explain the different types of Derivatives. 07
OR

{(A) Explain the characteristics and benefits of Future deals.

(B) Answer any two in brief. 04
(1) Explain the difference between Forward contract and Future contract.
(2) Tell the types of options.
(3) What is the Price Discovery?

(C) Answer the following in one or two sentences. 03
(1) Give the meaning of the Warrant?
(2) Give the meaning of Future Deal.
(3) What is the share of rights?

5. Choose the correct option and answer it. 14

(1) What is the relationship between Risk and Compensation?
(A)always direct and positive (B)always indirect and negative (C)no relation

(2) Who among the following is not a Financial intermediary?
(A) SEBI (B) NBFC {C) mutual fund

(3) Who gave the principle of Cash to choice?
(A) Keyens (B) Marshall (C) Wixel

(4) Who among the following is not a component of Financial Management?
{A) Money market (B) Commodity market (C) Capital Market

{5) Which economist cails ‘interest is pure financial phenomenon’?
(A) Marshall (B) Keyens (C) Robertson

(6) Who announces PLR in India?
{A) RRI (R) SRI [C)RO

VA RO D] S0 ()
(7) What is the relationship between interest rates and cash of demand?
(A) Direct (B) Inverse {C) Unequal
{8) In the CAPM model B is:
(A) beta (B) benchmark (C) market risk
{9) What is A T.M.?
(A) any time money (B} have money {C) money out of time
(10) Which of the following is not the type of Derivative instrument.
(A) futures contract (B) equity shares (C) contracts of the future
(11) ‘Derivative instrument are not Financial Instrument’ This statement is.......
{A} true {B] faise (C} half is right.
{12} Which of the following is not the type of Future Contract?
(A) Financial Commodity (B) Future Crisis (C) Future of the Equipment
(13) If the maturity period of a bond is seven years, then it will bw
{A) Along term instrument (B) A short term instrument. (C) A very long term instrument
(14) Which of the foliowing instrument provide information about risk free interest rates?
(A) Debentures (B) Fixed deposits (C)Treasury bills
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ENGLISH VERSION

1 (a) Explain the modern and traditional concept of financial 6
function.

OR

Explain the meaning of 'Maximization of profit" in the
financial management.

(b) Answer any two from the following : 8
(1) Scope of financial management.
(2) Liqudity V/s profitability.
(3) Administrative finance function.

(4) The role of finance manager.

2 (a) Explain the causes of financial risk and business risk. 6
OR

What is time value of money ? Explain compound value and
future value.

(b) Answer any two from the following : 8
(1) Explain types of bond.
(2) How return on equity is calculated ? Explain.
(3) Write a note on zero coupon bond.

(4) Explain 'H' model of equity share valuation.

3 (a) What is working capital ? Explain in brief the factors 6
affecting on working capital requirement.

OR
Explain the types of working capital.
(b) Answer any two from the following : 8
(1) Write a note on 'pay back period method'.
(2) Explain the average rate of return.
(3) Explain the methods of capital budgeting.
(4) Explain "operating cycle".

H-081002 | 5 [ Contd...



4

(a) What is capital structure ? Discuss its NI approach.

OR
Following the details related to the "SAGAR LTD." :
Rs.
SALES oo 3,00,000
Variable operating exp. .............coeevvveeeeenn... 2,25,000
Fixed operating exp. ........ccoceevvvvviiieeiiininens 25,000
Taxation 1ate ...........ccceeeviiieiiiieieiiee e, 40%
Capital structure :
Equity share capital (each of Rs. 10) .......... 1,00,000
10% Debentures (each of Rs. 100).............. 1,00,000
2,00,000

On the above basis calculate the degree of operating leverge,
the degree of financial leverage and the degree of combined

leverage.
(b) Answer any two from the following :
(1) Explain the classification of dividend policies.
(2) Explain the types of capital structure.
(3) Write a note on stable dividend policy.

(4) Explain importance of cost of capital.

Select the correct answer :
(1) The only feasible purpose of finance management is
(a) Profit maximization
(b) Wealth maximization
(¢) Sales maximization
(d) Assets maximization
(2) The market value of the firm 1s the result of
(a) Dividend decisions
(b) Capital budget decisions
(c) Working capital decisions
(d) Trade-off between risk and return
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)

(6)

(7)

(8)
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What is the relation betwen profitability and risk ?
(a) Positive

(b) Inverse

(c) Absence of relation

(d) All of above

Which is the most expensive source of fund ?

(a) New equity shares

(b) New preference shares

(c) New debentures

(d) Retained earnings

According to Company Act, the dividend should be paid

within ~ days after declaration.

(a) 21

(b) 30

(c) 42

(d) None of above

In leverage condition of no profit no loss is created.

(a) Financial

(b) Operating

(c) Break even operating
(d) Best

Minimum proportion of the current assets is known as
working capital.

(a) Permanent
(b) Regular
(¢) Special
(d) Seasonal

According to policy, percentage of working capital is

kept less than its requirements.
(a) Traditional

(b) Aggressive

(¢) Inter - mediatory

(d) None of above
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(9) Financial securities contain
(a) Equity shares
(b) Equity shares and preference shares
(¢) Equity shares, pref. shares and debentures
(d) Debt
(10) A bond carries a specific interest rate called
(a) Coupon rate
(b) Discount rate
(¢) Premium rate
(d) Maturity rate
(11) When the national stock exchange was established ?

(a) 1995
(b) 1994
(c¢) 1993
(d) 1990
(12) Ratio of current assets to current liabilities should be
(a) 1:2
(b)y 2:1
(c) 11
(d) 23

(13) Working capital is also known as .
(a) Small capital
(b) Circulating capital
(¢) Fluctuating capital
(d) Both (b) and (¢)
(14) Preference shareholders get preference at the time of
(a) Parchase of shares
(b) Public offer
(c) Payment of dividend
(d) Both (a) and (b)
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ENGLISH VERSION

Instruction : Figures to the right hand side indicate marks.

1 (@
(b)
©

2 (a)
(b)

Discuss the information included in the marketing 7
plan.

OR
Explain the Marketing Management Process. 7
Answer in brief : (any two) 4

(1) State the five types of needs.
(2) What is Relationship marketing ?

(3) What is consumer satisfaction ?

Answer in one or two sentences : 3
(1) What is consumer value ?

(2) What is Marketing Environment ?

(3) What is Social Concept of Marketing ?

Explain meaning and factors affecting consumer 7
behaviour.

OR
Which information regarding competitors is helpful in 7
designing marketing strategy ?
Answer in brief : (any two) 4

(1) What is Marketing Mix optimization ?
(2) State the steps in Marketing Research Process.
(3) What is Z.B.B. ?
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(c) Answer in one or two sentences : 3
(1) What is Product Positioning ?
(2) State the meaning of Faith in the manufacturer.

(3) State the reaction patterns of competitors.

3 (a) Explain meaning and strategy of branding. 7
OR
What 1s New Prtoduct development ? Discuss its
process.
(b) Answer in brief : (any two) 4

(1) What is Advertising ?
(2) Define pricing strategy.
(3) Give the meabning of product line.

(c) Answer in one or two sentences : 3
(1) State the importance of channels of distribution.
(2) Explain channel dynamics.

(3) What 1s line extension ?

4 (a) Explain meaning and decision of International 7
Marketing Mix.

OR

State the meaning and characteristic of service
Marketing Mix.

(b) Answer in brief : (any two) 4
(1) Give product support services.
(2) What is publicity and public relation ?
(3) What 1s product adaption ?

(c) Answer in one or two sentences : 3
(1) State the stages in Internationalization process.
(2) Give the meaning of M.N.C.

(3) What is intractive marketing in srvices ?
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(1)

@)

®3)

(4)

®)

(6)

()

@)

Choose the correct option.

provide a drive to satisfy one’s needs.
(A) Media (B) Wants
(C) Demand (D) Advertisement

gives a description of a longer channel starting
from raw material to components to final products that
are carried to final buyers.

(A) Production (B) Sales

(C) Packing (D) Supply chain

In order to describe the value of customers which
principle did Gandhij give ?

(A) Principles of Business ethics

(B) Principle of Trusteeship

(C) Principle of cust tomer related

(D) Principle of Social Business

The Hierarchy of needs model given by Maslow includes
how many stages ?

(A) Four (B) Five

(©) Six (D) Three

From the following lack of what could act as weakness
of competitors ?

(A) Experts (B) Collective strength
(C) Place (D) All of the given
Objective of Market Research is

(A) Clarification of problem

(B) Solution of problem

(C) Both (A) and (B)

(D) Controlled activity

The area in which company is located is called
(A) Industry (B) Local market

(C) Factory (D) None of given

When products are co-related with each other the group
of these products are called

(A) Production (B) Corelated products
(C) Productline (D) Dependent products
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(99 What helps in protecting brands ?
(A) Intellectual Property rights
(B) Law of contract
(C) Sale of Goods Act
D) M.R.T.P. Act

(10) distribution channel helps in facing changes
easily.
(A) Fixed (B) Flexible
(C) Specific (D) Broad
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ENGLISH VERSION

Explain the role of financial markets as a component
of the financial system.

OR

Explain the bank-based financial system design.

Answer in brief : (Any Two)
(1) What is the money market ?
(2) What is the secondary market ?

(3) What is the financial services ?

Answer in one or two lines only :
(1) State any two elements of Indian Financial System.
(2) State any two instruments of the money market.

(3) State any two instruments of capital market.

Describe the functions of money market.
OR
What i1s Treasury Bill ? State its advantages.

7
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(B) Distinguish between : (any one) 4
(1) Money Market and Capital Market
(2) Commercial paper and Certificates of deposit.

(C) Answer in one or two lines : 3
(1) What is CRR ?
(2) What is CBLO ?
(3) What is SLR ?

3 (A) Explain the function of capital market. 7
OR

(A) Explain the role of ‘SEBI’ in capital market. 7

(B) Answer in brief : (Any Two) 4

(1) What 1s Right Issue ?
(2) What i1s Public Issue ?
(3) What is Private Placement ?

(C) Answer in one or two lines only : 3
(1) What i1s ADR ?
(2) What is GDR ?
(3) What is ECB ?

4 (A) What is listing of security ? State the advantages of 7
security listing.

OR
(A) Describe the functions of secondary market. 7
(B) Answer in brief : (Any Two) 4

(1) State the difference between BSE and NSE.
(2) What is Stock Exchange Index ?
(3) What is Demat of Securities ?

(C) Answer in one or two lines only : 3
(1) Give the full form of OTCEIL
(2) How many stock exchanges are there in India ?
(3) When was Bombay Stock Exchange established ?
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5 Choose the correct option : (Any Seven)

(1)

2)

®3)

(4)

®)

(6)

(M)

Company does not get new capital by way of issuing

(A) Equity share (B) Bonus share

(C) Preference Share (D) Debentures

of the following is not the instrument of
Money Market.

(A) Certificate of Deposit (B) Treasury Bills
(C) Commercial Paper (D) Equity Share

When was EXIM bank established by Government of
India ?

(A) 1986 (B) 1972
(C) 1961 (D) 1982

Money market is regulated by
(A) SEBI (B) RBI
(C) SBI (D) BOI

What 1s the scope of capital market as compared to
money market ?

(A) Limited (Restricted) (B) Expanded
(C) At Par (D) None of the above

Which of the following is negotiable instrument ?

(A) Commercial Paper (B) Commercial Bill
(C) Treasury Bill (D) All of the above
There are shares in BSE Sensex.

A) 30 (B) 40

(C) 50 (D) 80

14
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(8) Money at short notice is for a maturity of or upto
in the call money.

(A) 12 days (B) 21 days
(C) 7 days (D) 14 days

(9) CDSL means
(A) Central Depository Service Limited
(B) Central Deposit Service Limited
(C) Central Direct Service Limited
(D) None of the above

(10) Formal financial system consists of

components.
(A) Two (B) Three
(C) Four (D) Five
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